State of Kansas My Appt. Exp June 1, 2000.

•		· · · · · · · · · · · · · · · · · · ·	SIDE TWO	4. A.	•		
Operator Name	Brungard	t Oil & Leasing	Co Lease Name	DeMos	ss '	Well #	2
		<u> </u>	County	Osbo	rne	- 1	-
Sec. 6 Twp. 9	Rge. 1111	U Hace	- 12				
interval tested, time	e tool open a , bottom hole	and base of formation of closed, flowing a temperature, fluid re opy of log.	ind shut-in pres	sures, whet	her shut-in pre	ssure read	ched static lev
rill Stem Tests Take (Attach Additional		X Yes I No	Log	Formatio	on (Top), Depth	and Datums	Sample
amples Sent to Geolo	oical Survey	□ Yes ☑ No	Name		Тор	41	Datum
) = 1 og = 10.	Y•• X No	Anhyd	rite -	91	L	+ 900
ores Taken		Yes No	Lansi	ng K-C	3029	. " G	-1218
lectric Log Run (Submit Copy.)		Yes E No					
ist All E.Logs Run:				nclosed gormation	eologist rep	port for	additional
None					in the first of the second	· · · · ·	
		CASING RECORD	□ _{Nov} □ υ,	Led			•
	Report a	ll strings set-conduc			production, et	c.	
Purpose of String	Size Hole	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Perc
Surface		8 5/8"	28	211	40/60 Poxmi	x 135	2% gel 2% C
							2300
				<u> </u>		 	1
	<u>i </u>	ADDITIONAL	CEMENTING/SQUEE	75 05000	i	<u> </u>	1
		ADDITIONAL	CENERITING/SQUEE	ZE KELUKU		· · · · ·	
'urpose:	Depth Top Bottom	Type of Cement	#Sacks Used		Type and Percen	t Additive	\$
Perforate Protect Casing	 				· ·		
Plug Back TD			·			:	
Plug Off Zone	<u> </u>					н	
Shots Per Foat		RECORD - Bridge Plu e of Each Interval P	,		Fracture, Shot, d Kind of Hater	•	ueeze Record Depth
						j -	
		·			· 		
			•		**************************************	ń.	
	•	· · · · · · · · · · · · · · · · · · ·		S gas at 4	· · · · · · · · · · · · · · · · · · ·	 	
UBING RECORD	Size	Set At	Packer At	Liner Run	, D v D	No į.	. • .
oate of First, Resum Da	od Production,	SWD or inj. Produ			mping Gas Li	ift 🗆 🗀	her (Explain)
stimated Production Per 24 Hours	oil M/	Bbis. Gas NA	Mcf Water	A Bbls.	Gas-Oil	Ratio	Gravity
sposition of Gas:	,	MET	HOD OF COMPLETIO	SU112 6/	N'N	P	roduction Inter
Vented Sold	Used on L		N Karmas	CE SON VA	Comp. Commi	ngled	

SWIFT FORMATION TESTERS

1309 VAN FLEET

PHONE 793-5177

GREAT BEND, KANSAS 67530

ORIGINAL

BIZUNGAZOT O. **ADDRESS** LEASE DEPTH SIZE PACKER MIS-RUN NO. INITIAL HYD. SUCCESSFUL NO. and the stage of the stage of MIN.: TOOL OPEN MIN.: FINAL SHUT-IN INVOICES SENT TO: margarity of fine INITIAL FLOW PERIOD. RECOVERY: **一种** FINAL FLOW PRESSURE 175 - 209 . INITIAL FLOW PRESSURE 66-1330 INITIAL SHUT-IN PRESSURE (x,y) = (x,y)FINAL SHUT-IN PRESSURE FIELD ORDER NO. PRICE OF JOB EXTRA EQUIPMENT OPERATOR TIME Shall not be liable for damage of any kind to the property or personnel of the one for whom a test is made, or for any loss suffered or sustained, directly or indirectly, through the use of its equipment, or its statements or opinion concerning the results of any test. Tools lost or damaged in the hole shall be paid for at cost by the party for whom the test is made. TESTERS APPROVED BY: OUR REPRESENTATIVE TICKET

14.51.4 05 9303 SARMAN







WELL LOG

Operator:

Brungardt Oil & Leasing Co.

Well:

DeMoss #2

Commenced:

June 21, 1996

Completed:

June 27, 1996

Contractor:

Shields Drilling Co.

CASING RECORD

Size

Run

Pulled

8 5/8"

214'

Cmtd. w/135 sax

Well Description: SW NW NW

Sec. 6-9S-11W

Osborne Co., Kansas

Elevation:

1,811' KB

Treatment:

Production:

D & A

RTD

Tops:

.... Figures Indicate Bottom of Formations

Rock & shale 214' Shale & sand 885' Shale 911' Anhydrite 946' Shale 2,530' Shale & lime 3,030' Lime 3,095!

MAND SECTIVED COMM

INVOICE

002088 BURTON BEERY

DEMOSS 2

- ACCT, NO.

HAYS

HALLIBURTON --ORIGINAL

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

COMPANY TRUCK

INVOICE NO. DATE:

10047

103601 06/22/1996 WELL'LEASE NO./PROJECT. WELL'PROJECT LOCATION STATE OWNER. **OSBORNE** KS SAME SERVICE LOCATION CONTRACTOR JOB PURPOSE TICKET DATE! SHIELDS DRLG CO CEMENT SURFACE CASING 06/22/1996

CUSTOMER AGENT VENDOR NO CUSTOMER P.O. NUMBER SHIPPED VIA: FILE NO.

DIRECT CORRESPONDENCE TO:

GARY BRUNGARDT DBA BRUNGARDT OIL & LEASING CO 529 E. 14TH, BOX 871 RUSSELL, KS 67665

P O BOX 428 HAYS KS 67601 913-625-3431

REFERENCE NO.	DESCRIPTION	QUANTITY		JUM 👙 😘	→ PUNIT PRICE 2004 EQ	AMOUNT
PRICING A	REA - MID CONTINENT					
000-117	MILEAGE CEMENTING ROUND TRIP		130	MI	2.85	370.50
			1	UNT		
001-016	CEMENTING CASING		211	FT	585.00	585.00
			1	UNT		
030-503	WOODEN TOP PLUG	8	5/8	IN	95.00	95.00
	•		1	EA		
504-136	CEMENT - 40/60 POZMIX STANDARD		135	SK	7.90	1,066.50
506-121	HALLIBURTON-GEL 2%	•	2	LB	.00	N/C
509-406	ANHYDROUS CALCIUM CHLORIDE		3	SK	36.75	110.25
500-207	BULK SERVICE CHARGE		141	CFT	1.35	190.35
500-306	MILEAGE CMTG MAT DEL OR RETURN	368.	388	TMI	.95	349.97
	INVOICE SUBTOTAL				·	2,767.57
	DISCOUNT-(BID)					1,051.66
	INVOICE BID AMOUNT					1,715.91
	*-KANSAS STATE SALES T	AX				55.05
	*-HAYS CITY SALES TAX					11.23
					-	

INVOICE TOTAL - PLEASE PAY THIS AMOUNT

\$1,782.19

INVOICE

HALLIBURTON ORIGINAL

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

INVOICE NO. 1-18 F. SAN DATE

					103880	06/27/1996
WELL L	-ASE-NO./PHOJECT		ELL/PROJECT/LOCATION ************************************	* STATE	<u> </u> 2	WNER , WWW
DEMOSS 2	\	OSBORNE		KS	SAME	
SERVICE LOCAT	ION STATE OF THE S	CONTRACTOR SECURITY	i ja	B PURPOSE	22,900,000,000,000	<i>€,</i> ∴πCKET,DATE
HAYS	знт	ELDS DRILLING	PLUG TO ABAN	DON		06/27/1996
ACCT: NO.	CUSTOMER AGENT	₩C\\\\ S \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	NO. CUSTOMER F	P.O. NUMBER	SHIPPED	VIA A SES SFILE NO.
002088 ANDY					COMPANY	TRUCK 10047

DIRECT CORRESPONDENCE TO:

GARY BRUNGARDT DBA BRUNGARDT OIL & LEASING CO 529 E. 14TH, BOX 871 RUSSELL, KS 67665

P O BOX 428 HAYS KS 67601 913-625-3431

REFERENCÉ NO.	DESCRIPTION ***	QUANTITY	/a	⊬!UM% Çe	A UNIT PRICE	AMOUNT:
RICING A	REA - MID CONTINENT	- 1-1-1-1-1				
000-117	MILEAGE CEMENTING ROUND TRIP		130	MI	2.85	370.50
			1	UNT		•
090-910	MISCELLANEOUS PUMPING JOB		1	TRK	395.00	395.00
030-503	TOP PLUG	8	5/8	IN	95.00	95.00
			1	EA		
504-136	CEMENT - 40/60 POZMIX STANDARD		180	SK	7.90	1,422.00
506-121	HALLIBURTON-GEL 2%		300	LB	.00	N/C
507-277	HALLIBURTON-GEL BENTONITE		6	SK	18.60	111.60
507-210	FLOCELE		45	LB	1.65	74.25
500-207			195	CFT	1.35	263.25
500-306	MILEAGE CMTG MAT DEL OR RETURN	502.	808	TMI	. 95	477.67
	INVOICE SUBTOTAL					3,209.27
	1,059.04					
INVOICE BID AMOUNT *-KANSAS STATE SALES TAX						2,150.23
						105.35
	*-HAYS CITY SALES TAX					21.51

\$2,277.09

INVOICE TOTAL - PLEASE PAY THIS AMOUNT